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Solving Exponential and Logarithmic Equations

The definition and properties of logarithms can be used to
solve equations in which either powers or logarithms appear.
If the unknown occurs in an exponent then the strategy is to
isolate it by taking the logarithm of both sides.

Ex.1 Solve 312 — 4
(a) using definition of logarithms.
(b) by taking the log (base 10) of both sides.
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Ex.2 Solve logy,x — logs3 = log,6
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Ex.3 Solve 63% — 42¢—3
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Ex.4 Solve log,0.04 = —2
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Ex.5 Solve log(z + 2) + log(xz — 1) =1
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Assigned Work:
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b x= brjz(SZ. 2)
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